Q
g

oo 7 L \FL
o &P LUy
EF




Pozicié

© O ~NO O WNEPRE

ol
= o

12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53

Cikkszam
265995-6
419279-6
651956-6
231469-9
419322-1
631695-4
231469-9
638432-7
643812-4
419176-6
265995-6
419281-9
643941-3
191976-3
911263-2
643814-0
643813-2
862352-5
419278-8
638107-8
419285-1
266292-3
210023-2
519173-3
241869-5
211061-7
345659-9
233092-6
911118-1
419284-3
188045-9
819217-2
262049-0
251368-9
210028-2
961052-5
227156-6
257173-2
213512-6
265034-2
318009-1
211131-2
324626-7
285845-9
345469-4
231808-3
419286-9
961152-1
224397-5
224282-2
266133-3
631694-6
419341-7

Megnevezés

Onmetszo csavar M4x18
Markolat burkolat
Kapcsolé TG72BD
Nyomorugo

Zarkioldé gomb

Aramkor

Nyomoérugo

Csatlakoz6

Akku csatlakozé
Kapcsolokar

Onmetszo csavar M4x18
Hats6 burkolat
Szénkefetarto-sapka
Szénkefe CB432
Trapézfeju csavar M5x40
Kefetartd

Kefetartd

Tipustabla

Motorhaz

Magnesjarom
Terelolemez

Onmetszo csavar M4x65
Golyéscsapagy 627DDW
Forgo6rész
Ventilatorkerék 55
Golyoscsapagy 6000LLB
Tengely régzito
Nyomorugé 5

Trapézfeju csavar M4x12
Favoka

Furészlaphaz

MAKITA cimke

Gumi gyuru 6
Sillyesztett feju csavar M6
Csapagy 606ZZ
Seeger-gyuru S-12
Fogaskerék

Gyuru 12

O-gyuru 39

Sillysztett feju csavar M5x16
Csapagyhaz
Golyéscsapagy 6001DDW
Tangely

Csapagytarté
Vastagsagbeallité gyuru
Visszah(z6 rugé
Védoburkolat

Seeger gyuru
Tanyéralatét

Kilso illesztoperem 40
Imbuszcsavar M6x20
LED &ramkor
Csatlakoz6 doboz

Mennyiség
6

PR RPRPRRPRRPRRPRPRPRPRRPRPRPEPNRPRRPRRPRPRPRPRPRPREPREPNRPRRPRPRPREPRPNRPRRPRPREPRPRPORPRNRPNRRPREPREPRERRRRSR



54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
76
77
78
79
80
81
82
83
84
85
AO01
AO03
AO4
AO5
AO6

419282-7
266026-4
961014-3
272229-0
252158-3
941151-9
345658-1
252103-8
345657-3
317986-4
213062-1
265084-7
266194-3
256442-8
256442-8
266264-8
251919-8
231007-7
251896-4
941151-9
252133-9
961014-3
272251-7
266264-8
266229-0
154832-8
266229-0
419283-5
911118-1
253186-1
164095-8
194204-5
783203-8
824757-7
A-85101

Vilagitas burkolat
Onmetszo csavar M4x12
Zarégyuru E-8

Emelokar 40

Anya M6

Lapos alatét 6
Mélységallito

Hatlapt anya M5-8
Szogallitd

Megallito

O-gyuru 9

Csavar M6

Laposfeju csavar M6x90
Tamaszto pecek 6
Tamasztoé pecek 6
Imbuszcsavar

Négylapu fejescsavar M6x20
Nyomorugé

Csavar M5x20

Lapos alatét 6

Hatlapu anya M6
Zarégyuru E-8

Kar

Imbuszcsavar
Imbuszcsavar M5x8
Alaplemez
Imbuszcsavar M5x8
Porkivezeto

Trapézfeju csavar M4x12
Lapos alatét 7
Parhuzamos vezetoléc
BL 1830 Akkumulator
Imbuszkulcs 5
Hordtaska

Furésztarcsa 165x20x24T

PR RPNRRPRRPRPRPRRRPRRPRPRPRPRRPREPRPRPRRPRRPRREPRPEPRPRRPRPRRERPREPRERRERNER



